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1 Introduction

This paper reviews radiated unwanted emissions requirements for repeaters. It is assumed that radiated requirements are applicable for FR2, and so the scope of this contribution is FR2. 
2 Discussion

The unwanted emissions requirements consist of ACLR, operating band unwanted emissions (BS), SEM (UE) and spurious emissions. For FR2, there are no BS co-location or co-existence related unwanted emissions requirements.

The BS ACLR requirement is defined as an absolute requirement of -13dBm/MHz and a relative requirement. The least stringent of the two options applies. For TRP below 31dBm, the absolute ACLR is the less stringent and so the ACLR requirement is -13dBm/MHz.

The OBUE and UE SEM requirement is -5dBm/MHz for the first 5MHz from the carrier and then -13dBm/MHz.

Thus, for DL, the absolute ACLR is more stringent than the OBUE. Applying the absolute ACLR leads to around 7dB lower emissions in the adjacent channel than if a BS would meet OBUE only.

Observation 1: In the DL, the ACLR requirement drives the amount of BS emissions in the adjacent channel. If only the OBUE requirement is present, emissions are increased by around 7dB.

Observation 2: To provide the same amount of DL adjacent channel protection as a BS or IAB, a repeater must comply to at least the absolute BS ACLR requirement (with adjustment if the maximum power is >31dBm).
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For the UL, the level of adjacent channel emissions is around the same considering the ACLR and the SEM for the largest power class UE.
Regarding general spurious emissions, the same requirements should apply to a repeater as for a BS or UE.
Observation 3: The general spurious emissions for a repeater should be the same as those for a BS/UE (including category A/B and protection of ESS)
3 Conclusion

Observation 1: In the DL, the ACLR requirement drives the amount of BS emissions in the adjacent channel. If only the OBUE requirement is present, emissions are increased by around 7dB.

Observation 2: To provide the same amount of DL adjacent channel protection as a BS or IAB, a repeater must comply to at least the absolute BS ACLR requirement (with adjustment if the maximum power is >31dBm).

Observation 3: The general spurious emissions for a repeater should be the same as those for a BS/UE (including category A/B and protection of ESS)
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